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C) Explain why the triangles are similar. Write a similarity statement for each pair. 2 Y
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Algebra Find the value of x.
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13. Natasha places a mirror on the ground 24 ft from the base of an 6
tree. She walks backward until she can see the top of the tree in the
middle of the mirror. At that point, Natasha’s eyes are 5.5 ft above
the ground, and her feet are 4 ft from the image in the m1rror F1nd g ft{i‘
the height of the oak tree. \ e
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Algebra Find ﬁﬂ;ﬂggmetm mean of ef pait of numbers. @
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19. The altitude to the hypotenuse of a right triangle divides the
hypotenuse into segments 6 in. and 10 in. long, Find the length

h of the altitude. aw 4 W.‘/Aw
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